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Revising Big-Oh notation
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Another example…

Consider the function ! " = 2"% + 27" + 1000

1) x → o ; f ( x ) = 2×2+27×+1000
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Iclicker question
Suppose that the truncation error of a numerical method is given 
by the following function:

! ℎ = 5ℎ% + 3ℎ
Which of the following functions are Oh-estimates of ! ℎ as 
ℎ → 0
1)
2)
3)
4)

Mark the correct 
answer:
A) 1 and 2
B)  2 and 3
C) 2 and 4 
D) 3 and 4
E) NOTA
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Iclicker question
Suppose that the complexity of a numerical method is given by 
the following function:

! " = 5"% + 3"
Which of the following functions are Oh-estimates of ! " as 
" → ∞

Mark the correct 
answer:
A) 1,2,3
B)  1,2,3,4
C) 4
D) 3
E) NOTA

1) O(5"% + 3")
2) O("%)
3) O("-)
4) O(")
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Select the function that best represents the decay of the error as ! increases

A) "#$%
B) "#%
C) !#&
D) !#$

A) "#$%
B) "#%
C) !#&
D) !#$
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